H £ 0l & AF & S

Al A

M SALED
. NS A
Sl EEESAY (EANHSES|H) (12l M2
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
CANSH 3,847,832 4,826,692 /978,860
= 1,375,000
= 2,472,832
nSHF Ho 3,847,832 4,826,692 /978,860
== 1,375,000
[Ea 2,472,832
FUHE TGN (FUHESESA) 3,847,832 4,826,692 /978,860
< 1,375,000
s 2,472,832
=XE 24 1,036,000 2,322,000 1,286,000
201 er23 | 7,000 7,000 0
01 At2teltl 3,000 2,000 1,000
o2g=s 7Y 750,000 *4=2 | 3,000
02 S3=gHl 4,000 5,000 A1,000
Osg=Iy Ald= Xl 4,000
401 Al HIZL S 0HHI 1,020,000 2,306,000 /1,286,000
01 AlZ8| 1,020,000 2,306,000 1,286,000
Odel S0t SSFIY =4 100,000
ouJt XNsits SsFY &4 130,000
0ge ditite SsFY &4 290,000
O3l3t Jtlits SSFAE =4 200,000
ooty 2JI0ts ssFE =4 270,000
O3g=Xd Ad= 22 30,000
402 QI2F X201 & 9,000 9,000
01 QIZEXHE2 AL 2 (REHITH ) 9,000 9,000
O=% RE=FIE ArgHl XI&
3,000,000 *37H 2= 9,000
2 NSA SSIIX 2 61,832 54,692 7,140
101 21A4H| 31,832 31,292 540
04 JIZtN2Z2 XS+ 31,832 31,292 540
O==XSA SSXLA 22| 224 1A
] 31,832
OJlEZ=s 2,096,270« 128 *1Y 25,156
Odxt=& 80,2402+ 112+1 883
@ZIN L= Y= 26,037,880& *13% 3,385
O&lx= 80,2402 +x302*1 2,408
201 =3 30,000 23,400 6,600
01 AtR2t2lt] 10,000 8,400 1,600
OSHZMAIAH L SN2
750,000 122 9,000
OAR23Hl S 2334l 1,000
02 S3=gHl 20,000 15,000 5,000
Ost= NSt SEALA A2 =Xl 5,000




A CADED
M WNSHE WA
Chol: FERETMAI(EXESZEEH) (SHol: )
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| osiexiex zaxax 2223 15,000
DES SUHSZEFINE LA (MEALY) 1,250,000 1,250,000 0
& 625,000
i 625,000
401 Al&HIZ 20| 1,250,000 1,250,000 0
& 625,000
= 625,000
01 AlEHI 1,250,000 1,250,000 0
01NEE BEUHSI=IE =4 1,250,000
= 625,000
i 625,000
DES NSSZFINE LA (MESAY) 1,500,000 0 1,500,000
& 750,000
= 750,000
401 AIEHIZ 2018 1,500,000 0 1,500,000
& 750,000
i 750,000
01 AlEHI 1,500,000 0 1,500,000
OLEE Ws3IFNE =4 1,500,000
= 750,000
= 750,000




